THIRD YEAR TERMINAL EXAMINATION 2009
PAPER IV
ECONOMICS

Full Marks: 25
Time: 1 hour

1. Answer any five questions 2x5=10

a) Define economic growth

b) What is meant by neutral technology?

¢) Why is planning necessary in a capitalistic économy?
d) Define planning

¢) Distinguish between an attribute and a variable

f) What is complete enumeration?

g) What is a pictogram?

2. Answer any one question 15x1=15

a) Distinguish between economic growth and economic development. Per capita
income is a better indicator of economic growth Explain

&) Draw a bar diagram on the basis of India’s population statistics given below

YEAR 1950-51 1560-61 1970-71 1980-81 1990-91
POPULATION | 359 434 541 679 800
(MILLION)

Discuss the advantages and disadvantages of graphical representation of statistical data



LORETO COLLEGE
TERMINAL EXAM 2009
THIRD YEAR
ELECTIVE HINDI
FOURTH PAPER

TIME lhr TOTAL MARKS 25

Treffia wat & s € |
wo1. v f=h & ofmm Wy Se 5 Swd! Rdwa] wamgl 9
02, VIAHTH 9¥ wEyl sel 8

w03, fAsmos 2t oW W HHW STeR BT SHE WY X WET Sife 8



LORETO COLLEGE
TERMINAL EXAM 2009
THIRD YEAR
ELECTIVE HINDI
FOURTH PAPER

TIME 1hr TOTAL MARKS 25

Pl vl 5 wem € 1
501, W R & aftmmn W g SRt Y wwe favivand wamwl 9
R02, XTOTATHT SR HeTr SIfergl 8

%03, fEmew o oW W weTe SR §T 9P WY WX HOY ST 8



	dsc_5837jpg
	dsc_5854jpg
	dsc_5855jpg

